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QUESTION 1

Which Avaya Gateway features Standard Local Survivability?
A. G350

B. G650

C. G700

D. G860

Correct Answer: A

QUESTION 2

An Avaya customer with a large contact center is IP enabling their S87xx and will allow 25 users to work from home via
IP Agent in the Telecommuter mode. What is the minimum hardware required in the S87xx to provide this application?

A. one CLAN board only

B. one Media Processor board only

C. one CLAN and one Media Processor board
D. no hardware is required, only software.

Correct Answer: A

QUESTION 3

What is the maximum number of TN2602 IP Media Resource circuit packs allowed in a port network?
Al

B.2

C.3

D.4

Correct Answer: B

QUESTION 4

A complex design request has been issued for a "converged" environment. In the RFP, you expect to receive specific
information in order to create a design solution. What information influences your design solution? (Choose three.)

A. Network topology
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B. Estimated busy hour call load
C. Number and type of endpoints
D. Highpoint closet temperatures
E. Number of management offices

Correct Answer: ABC

QUESTION 5

You outsource a call center that has more than 50 agents running IP Agent software. The router is performing Network
Address Translation (NAT) on all private addresses in the call center to a public address of 207.89.3.8. Only one agent
can log in because the media server assumes each additional login request from the same IP address is the same
agent. Therefore, the current connection is dropped, and the new connection is established. What are two solutions for
this problem? (Choose two.)

A. Create a VPN between the routers

B. Implement a one-to-one NAT scheme

C. Implement a one-to-many NAT scheme

D. Open ports 1719 and 1720 on the firewall

Correct Answer:. AB
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